% 3 EL OB D ERITABBREKKEER O hEFHET
2024/8/18 O % 5 5 ERAAEAKK T —IL
T—)lavT4> 3> 8A18H 09:40  KIRIREE =8:25.1°C  KR:28°C
8A18H 12:15  Ki&IREF FR:25.2°C  7K3E:28°C
) 1 EFEEPKRE | 2 BB AK|3 B kg |4 ZEWELXEA| 5 7AW 2|6 wiH m|7 TR M |8 AH #HKX
BB  |[[maA+ th [ A th2 | R b th2 [F &R th2 [ KB o 2K S Gl dh2|/NER f1|MEWLODR &1
50m 26.80 27.24 27.36 27.96 28.25 28.31 28.44 28.60
) 1 P B|l2 @B% AK|[3 =H kg | 4  thHE m|ls5 BNOKEE|6 % KEB|7 BH ®B—|8 BT 1t
BEE | KRE$ tho | A ZEdh b2 | th2 | R H o SENE: h2 | EfF b th1|K S G#IH  1|FHP 2
100m 1:00.20 1:00.90 1:00.98 1:02.00 1:04.57 1:04.79 1:06.10 1:06.95
) 1 N B |2 BH ®WmF|3 BEE M|l4 =FHK E8 |5 BME —8|l6 XA HE|7 RDJIEKEE| 8 X £
BEE (A@m®)ld  1|) SAZER 1| KRS 2| FH h2 |l D HS d1|fELOS  2|#iHF 2 |RER th2
200m 2:08.30 2:15.99 2:17.48 2:19.53 2:27.42 2:35.24 2:36.48 2:50.03
) 1 EBEELEA |2 =HF E® |3 N ER |4 BAHF ®F |5 H KM |6 FEH Ml 7 BE —& |8 WO HFE
BEE |[mEe h2 [ FHA o ch2 [## oh t1|) S AZER 1| ARP th2 [ KR b 2 (1 o EH b 1| B EF 1
400m REH 4:32.10| K= 4:42 87| K= 4:43.34 4:56.59 4:58.82 5:01.74 5:13.26 5:19.08
. 1 WA "X |2 BAR/G|[3 RHEH Z=HM|4 #HAEA #E|5 WK BK|6 =B EBEZ |7 BH ®B— |8 BF iiE
K& FHo $2|EHT 2 | F2| TEGPEHE $2|8HF o1 P HIZE F2|K S GHIFH  F1|/NERP 1
100m 1:05.59 1:07.26 1:08.54 1:09.85 1:10.20 1:12.87 1:13.30 1:15.20
. 1 AR BX |2 BA®/E|3 KRE ZEHM |4 ME BFE|5 WK B%K|6 BB B |7 #HBH XHM|s8 5% 4=
HKE FHog d2|EHT b2 | F2| THEGPEHE $2|EHF o1 P &N A b2 [ KAP th2 [/NERch th1
200m 2:21.84 2:26.13 2:27.70 2:30.10 2:36.04 2:38.37 2:40.21 2:44.94
L 1 /NI B2 |2 KRB OHF |3 BE MK|4 BEU EFEW |5 ZH —EH|e6 AH MA|7 B #= |8 EE ZA
ik & JSAZER 2| KESH f2|MELOD  D1|KSGHIH f2|lLoHP fifELO® Di1|MELOS  $2|ikkEd th2
100m 1:12.49 1:15.21 1:15.53 1:16.22 1:17.11 1:18.17 1:20.61 1:21.65
L 1 = O FEa |2 He @ |3 NI B2 |4 XBF HF |5 N #R|e FH —E |7 Kk KE|8 #U =FMK
Pk E Iz {5 f(MfEWLCOE  o2|) SAZEWR 2| KEF th (#H fi1{lLOHF E R E- s t1[K S GHIH &2
200m 2:40.79 2:40.85 2:42.74 2:43.83 2:46.63 2:48.02 2:49.64 2:49.87
. ) 1 MR ME| 2 FEPKREC | 3 b EF| 4 HH W5 B ZR|6 BEEIEA| 7 KU BEE| 8 Kk KE
NR2T T4 |/NERp b1 (PO AIZE th2 | B o 2| RK S 1|l th2 |RER $2|) SAZER $2|RU+$ th1
100m 1:02.69 1:03.03 1:03.19 1:03.89 1:04.22 1:07.77 1:08.09 1:08.97
) ) 1 deM BEF | 2 BEEEEER | 30 KL BEBE | 4 FE KR
N2T T4 |IgEE s h2 |RER P 2| ) SAZEMR  F2|fklE th1
200m 2:23.16 2:24.79 2:52.43 2:55.26
. 1 BH ZR|2 9N B |3 HEP W4 =8 =N |5 wiHA H|6 HLE EBE|7 WO BE|8 Z=EHmHRXE
BAX L —|3)||p d2|AmE)Ie  F1|MELODT  G2|ikkEP 2| K S GHIFH 2| KASP h1|EETP 1 |FER P th1
200m A& 2:21.13 2:23.36 2:24.84 2:25.60 2:34.79 2:45.46 2:49.11 2:50.04
1 JSAZEWR| 2 Iz 5 o 3 MELOSD | 4 /NER 5 REF 6 M FH o 7 RER 8 AAH
BH @wmTF b8t FEH AH#H HX MmN HME AR BE AR ER AR £ WHE KA
NI ES =R ORtA A = 5i5 4 AR &4 mE = R 1B BA BN
7= AHE REK =N S B 4K ) NE X BE B eH & b &IF
VL= AW I|RE =8 RN H¢ i By EFH S H ;1 BN AED & IFER 1 RA HE EF
4x50m R 1:53.48 1:56.64 1:57.79 2:00.55 2:01.78 2:02.30 2:02.73 2:02.76
(B—XFE) 28.23 28.10 28.92 28.10 30.69 29.27 32.53 30.77
1 JSAZEWR| 2 I f5 o 3 MEWLOSD | 4 /NER o 5 RER 6 AAH 7 KRR P 8 EHF
A#E TRK =8 =N AH X 5i5 4l R 18R MHE KA AR K4 WA 5K
NI ES ZE R At = MR KE WA £ b8 RNF St H W mAR OHRRK
PO AW IRE b8t FEH H s i TN HME F 53R 5 A BT NE X BARE ) 1R
VL= BH #@wF =N S BHE K B EFH eH B HE B BAR BH Il SEK
4x100m | KEH 4:39.53 4:43.70 4:48.06 5:05.44 5:09.29 5:10.82 5:13.16 5:14.05
(BE—kHE) 1:15.83 1:11.29 1:16.79 1:14.46 1:13.76 1:16.05 1:23.32 1:09.89
Bz E2pXivd B3f7 Al 51 £ EyAi EF1iv
J S AZEWR I B FMifE L op REf NER b AESD EH$ REF
665 565 528 365 328 268 24 228




% 3 EL OB D ERITABBREKKEER O hEFHEY A
2024/8/18 O % 5 5 ERAAEAKK T —IL
T—)lavT4> 3> 8A18H 09:40  KIRIREE =8:25.1°C  KR:28°C
8A18H 12:15  Ki&IREF FR:25.2°C  7K3E:28°C
) 1 KRB #E|2 B R |[3 MNH £=F |4 RE #Em |5 #I ER|6 BN BB 7 /AW WME| 8 PN RE
BEE |XxR$ f2|fEWLOSE F1|KS GHIH  D1|IKfE 2| RN b1 |FP I eI th2 | B th1
50m 28.38 29.74 29.81 30.22 31.14 31.34 31.87 32.24
) 1 28 $FE |2 B B3 Mk Hx|4 dH H#F |5 FH =F |6 BILI XK |7 T8 |8 f =
BEE (ke th2 [ )1 h1 [FRE & th2 [ b 2K S GHIF  1|MEWLOT  bi|lkisd th2 [Z M b ch1
100m 1:01.59 1:03.30 1:04.34 1:04.90 1:05.35 1:06.71 1:08.72 1:08.77
1 BY BiE|2 BB $SE|3 BEAHMAEL AR BXFE | 5 THE & |6 W FX |7 Wl F8
I th1 |l 5 f2|EHT F2|FEHMNEF  P1|FERP d1|EHT 1|l b1
REH 2:16.32| K=Hh 2:16.77 2:17.14 2:22.26 2:22.90 2:28.43 2:35.58
7 AR A
R EEP th2
200m 2:35.58
) 1 CHR BT | 2 EEAHMAZLZ| 3 THE &9 |4 WA FEABH |5 #I ER
BHEE |[FHAFED  $i1|EHD 2[R d1|EETD 2 | RNt 1
400m REH 4:48 58| KR=HT 4:48.64 5:03.81 5:26.16 5:26.81
. 1 Al BE|2 ZHROUNEFE |3 BA BE|4 T8 #HX |5 B EE |6 HE BE| 7 KHEKRFE| 8 WBESDHR
HK & M ges f2|H AT f2|AmHE)IE F1|EEES 2 |EHT th1 |IE R 1| RF o2 |/NEf b th1
100m 1:13.57 1:16.32 1:17.69 1:18.80 1:20.53 1:25.66 1:25.69 1:27.62
. 1 Al BER|2 B BPAE|3 RERUYNE |4 BH BAF |5 WTEEHE
HKE Il o f2|AmHE)IE F1|lgATF f2|B2AT f1|sFMg th2
200m 2:36.78 2:45.85 2:46.09 3:06.11 3:06.45
L 1 BN HFM |2 Tk KE |3 KB EM |4 #FESDHRE |5 BN AB# |6 FEB BE | 7 AHFAWE | 8 N Fik
K& EH$ th2 |l B5 o 2 [/NER P f2|AmHE)IE F2\FAEF o1 | W H F2|B#F S o2 |5 5 2
100m REH 1:16.70| K= 1:16.91 1:23.79 1:24.31 1:25.58 1:29.05 1:29.71 1:30.21
L 1 BN Ha | 2 Tk KB |3 KEF EM |4 FESDBR|5 GE BR |6 HFER FHK| 7 MEEX PE|8 ALK BETF
K& EH$ th2 |l 5 o 2 [/NER P f2|AmHE)IE F2|MiHF o2 (@)l F1|REF SIEIE 2
200m REH 2:47.08 2:48.53 2:59.13 3:01.63 3:10.27 3:16.53 3:23.98 3:24.88
) ) 1 U HFHE |2 HME FAR|[3 N EE |4 RE BE |5 RKAREE |6 =EH HEE
N2T 74 Bt o2 [ R P th1 |5 P th1 |5 P h2|EATD F1|RAFF th1
100m RE=H 1:05.91 1:13.33 1:13.91 1:14.96 1:20.92 1:27.71
\ ) 1 OR HFE | 2 B FE
NET 74 ARGt oh2 |ji# R b th1
200m A& 2:25.25 2:36.28
. 1 K¥ #SBE| 2 8k ®x |3 tH HBFF |4 AHFWAE |5 W FH |6 N EBR| 7 WTEERE |8 L OB
BAXFL—|xKEP F2|REF 2 |mEMm T 2 |B#ET S 2 | )l F1|REF 15T 2| REF th2
200m 2:30.60 2:33.87 2:37.59 2:44.72 2:54.20 2:56.75 3:12.29 3:22.57
1 Iz 5 o 2 AR T 3 EH$ 4 /NER o 5 EVales 6 AAH 7 KD
B8 *H=E MK Bx BERANAL K& =M N RE (ol N N=1 aH EF
T8 fFE AR P ] BFx mE OF XF  EWH ol N T ol B
7= BE #E AE BAE et EE& NHE A BH WH dE WLE i M
VL= Mk KB ti ER A K WA THER ARARER ) BXR 2l KF
4x50m 1:59.38 2:01.80 2:06.99 2:11.69 2:28.10 2:31.94 2:32.55
(BB—kH&) 29.34 29.86 29.76 30.28 37.52 44.62 36.51
1 I 5 2 EHT 3 RER$ 4 /NER o 5 L Yal=s 6 AAH
TE ISEEL AEF BEE MR THER BH WH fBR m=
Tk 188 RN K AR = NHE A WRHE A dE 1=
P EE $H= BERANAL MK #xE K& = RARESE &%) BXR
U RBRE HBm ] Fx ti ER mE OF el HiK e K X&
4x100m 4:53.39 4:57.63 5:00.22 5:42.81 6:06.33 6:33.53
(BB—kH&) 1:20.22 1:21.57 1:10.76 1:28.27 1:28.61 1:48.59
ENEd EpXiv 537 Al 51 £ B E2F1v
Iz B o EHF RERF NER b L-Vales BAE%E)t ARAF Bl s
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